

$$\lim_{x \rightarrow 2} -2 \left[\frac{x-2}{x} \right] + a \left[\frac{x+2}{x} \right] = \begin{cases} -2 \cdot 0 + 2 \left[\frac{2+2}{2} \right] + a \left[\frac{-2+2}{2} \right] = 2 \cdot 1 + 0 = 2 \\ -2 \cdot 0 + 2 \left[\frac{2+2}{2} \right] + a \left[\frac{-2+2}{2} \right] = 2 \cdot 2 - a = 4 - a \end{cases} \quad \left. \begin{array}{l} 2 = 4 - a \Rightarrow a = 2 \end{array} \right\}$$

$$\rightarrow \left[\frac{a}{x} \right] = \left[\frac{2}{x} \right] \quad \text{نقطه}$$

$$\lim_{x \rightarrow 0} [2 \sin x - 1] = \lim [1 - 1] = \lim [0] = (-1)$$

$$\lim_{x \rightarrow -\frac{1}{2}} [10x^2 - x] \xrightarrow{\text{مقیاس}} \lim \left[10x - \frac{1}{x} + \frac{1}{x} \right] = \lim \left[-1 + \frac{1}{x} \right] = \lim \left[-\frac{1}{x} \right] = (-1)$$

$$\frac{1}{x} \rightarrow \frac{1}{0^+} \text{ و } \frac{1}{x} \rightarrow \frac{1}{0^-} \rightarrow \lim_{x \rightarrow 0} A \xrightarrow{\text{برآورد}} \left[\frac{1}{x} \right]_* = [1^+], \left[\frac{1}{x} \right]_{**} = [-\infty]$$

$$\lim_{x \rightarrow -\frac{1}{2}} A = \lim_{x \rightarrow -\frac{1}{2}} \frac{10x+4}{19x+18} = \frac{-5+4}{-1+18} = \frac{1}{17} = -\infty$$

$$\lim_{x \rightarrow 0^+} \frac{\sin^2 x}{[x] + \cos x} = \frac{1 - \cos^2 x}{1 + \cos x} = 1 - \cos x = 1 - 0 = 1, 1 \in \mathbb{R}$$

$$\lim_{x \rightarrow -1} \frac{\sqrt{x+1} - \sqrt{x+2}}{1+\sqrt{x}} = \frac{0}{0} \rightarrow \frac{\sqrt{x+1} - \sqrt{x+2}}{1+\sqrt{x}} \times \frac{1}{1} \times \frac{1}{1} = \frac{-1}{1} \times \frac{1}{1+1} \times \frac{1}{1} = \left(-\frac{1}{2}\right)$$

$$b) \text{ hop } \rightarrow \frac{\frac{v}{r_{x1}} - \frac{w}{r_{x1}}}{\frac{1}{r_{x1}}} = \frac{-\frac{1}{2} - \frac{1}{3}}{\frac{1}{3}} = \left(-\frac{5}{2} \right)$$

$$\lim_{x \rightarrow 1} A = \frac{0}{0} \xrightarrow{\text{hop}} \frac{y - \frac{y}{x+1}}{y - \frac{y}{x+2}} = \frac{y - \frac{y}{2}}{y - \frac{y}{3}} = \frac{1-1/2}{1-1/3} = \frac{-1/2}{2/3} = -1,5$$

$\frac{0}{0} \rightarrow \frac{a+\sqrt{c}=0}{\hookrightarrow a=-\sqrt{c}} \rightarrow \lim_{x \rightarrow -\infty} \frac{b}{\sqrt{bx+c}} = \frac{1}{2} \rightarrow \underline{\underline{\sqrt{b} = \sqrt{c}}}$

$$\Rightarrow \frac{ab}{c} = \frac{(-\sqrt{c}) \times (\sqrt{c})}{c} = \frac{-c}{c} = -1$$

$$\begin{aligned} \nearrow \chi_{\pi^+} \quad \frac{F_+(k[\frac{q_1}{\pi}])}{0^+} &= \frac{\Sigma - \Psi k}{0^+} = +\infty \rightarrow \Sigma - \Psi k > 0 \rightarrow k < \Psi \\ \searrow \chi_{\pi^-} \quad \frac{\Sigma + k[\frac{q_1}{\pi}]}{0^-} &= \frac{\Sigma - \Psi k}{0^-} = +\infty \rightarrow \Sigma - \Psi k < 0 \rightarrow k > \frac{\Sigma}{\Psi} \end{aligned} \quad \left\{ \begin{array}{l} [-k] = -\Psi \end{array} \right.$$

$a - b = 0 \rightarrow b = a$ → منتج من الصفر → مقدار غير صفري → $a = b$ →

$$\text{h.o.p} \rightarrow \frac{b \left(\frac{\frac{1}{\sqrt{2}}}{r \sqrt{r}} \right)}{a(1)} = \frac{K_{eq} \left(\frac{1}{\sum K_i} \right)}{a} = \frac{1}{q}$$